Using Inverses and Identities " Name
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Give the additive'inverse of 78 in“the real number system |

i
Give the multlpllcatlve inverse of 78 in the real number system 18
3
Give the additive inverse of —3/4 in the real number system ] 4
- Give the multlpllcatlve inverse of ~3/4 in the real number system 75

What is the ldentlty in addition in the real number system’ o

Wwhat is the ldentlty in multiplication in the real number system? l
Give: the multiplicative ldentlty for a 2 x 2 matrlx. [:' i]

—p"
Give the inverse matrlx for [f j] 8

Prove your answer in number 8 correct.
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10. Solve these systéms using inverse matrices. SHOW ALL THREE STEPS:!i!!!

45x - 89y = 143 B.y - 5/6 = 1/12(x - 4.7)
—56y + 67x = ~67 ‘é .y + 13.4 = =7/8(x + 12)

o _ﬂ e i % -‘/-’-;/(:( e j/s 4'
LAY Eﬂ [ﬂ I TR 7 e indereds

LD G = 1478)

3443
— 11259

S 3443
2x + 7y - 8z = 56 D. =7y + 6x +3z = 5
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78 - 3x + Sz = 9y . 7y + 3z =
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"Solve” the rouomng open sentence by writing a .- uence of four oo axva.ert
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